"l’
‘ Sirocco Mini Clip-on Installation Instructions

s HA
BHBE ControltechEf - HHFBLREAPELBELRERAR - BRASKRPELESEMNENERBRTBRERER -
RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
Controltech(REI A BEHRZRRBRE ZEBE - A BSHBREEPEERFHEMAVIE - URBETHREMERSHAE - B0 RENE  BINHBRER LNEH  EFESERER - BRANEE
tAESERESEER -

EmBiE / B5E
Sirocco Mini Clip-on / TTH-19 (C Clamp)

EH2E

@ FiBERE -

@ Fh#x] -

@ MSIR44SERHE(12mm)x2 -
@ FhiEEsx] -

® BRaE)x1 -

® BRa(A)x1 -

@ MS5244CHFE(50mm)x4
CHx2 »

® T&x2 -

ZIRRAA

1 EANEOMSI24ZFRECK - KOFIL#EEEE
F b ARFERAEEBE#EHBE#EERARN
{B5Nm) -

2. EFRAOMSIEM4BQFNERE EEQFIEL -

o = ’ = /g uy ik s s
Revolve the Pad, Forward or backward 3. REROFNTER LFNFERANT

LLNTRTH

www.controltechbikes.com ./ [/, /4




A
y/

Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use. .
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (C Clamp)

Part

@ MiniCliponxl -

@ Elbow pad cradle x1 -

® M5 bolt for pad cradle(12mm) x2 -
@ Elbow pad x1

® Velcro(Soft) x1 »

® Velcro(Prick) x1 -

@ M5 bolt for C clamp(50mm) x4 -

C clamp x2 -

@® Lower clamp x2 -

Installation

1. Assemble the C Clamp ® with Mini clip-on @ by tightening
4 M5 bolts @ (Max torque: 5Nm).

2. Assemble Elbow pad cradle @ on the Mini clip-on by
tightening 2 M5 bolts ®.

3. Attach the Elbow pad @ to the cradle.

LLNTRTH
e TH/

www.controltechbikes.com



y /
‘ Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be
This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused

instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
sure to keep your receipt.
by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular

maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (Round sclamp)

Part Accessories(Optional)

@ MiniCliponxl - @ Square clamp pad Short x1 -

@ Elbow pad cradle x2 - @ Square clamp pad Tall x1 -

® M5 bolt for pad cradle(12mm) x2 = @ Lower Square clamp x1 -

@ Elbow pad x2 ® M5 bolt for square clamp(18mm) x4 -

® Velcro(Soft) x1 °

® Velcro(Prick) x1 -

@ Upper clamp x1 -

Clamp pad Upper x1 -

® Round clamp pad Lower x1 -

Round Lower clamp x1 -

@ M5 bolt for round clamp(16mm) x4 -

Installation

1. Ensure the stem body is round type.

2. Assemble Mini clip-on @ with upper clamp @, clamp pad
upper ®, Round clamp pad lower ®, and Round lower clamp
in sequence and tighten 4 M5 bolts @ (Max torque: SNm).

3. Assemble Elbow pad cradle @ on the @ Mini clip-on by
tightening 2 M5 bolts®.

4. Attach the Elbow pad® to the cradle.

www.controltechbikes.com

LLNTRTH

AT



"l’
‘ Sirocco Mini Clip-on Installation Instructions

&t AR
BHBE ControltechEf - HHFBLREAPELBELRERAR - BRASKRPELESEMNENERBRTBRERER -
RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
Controltech(REI A BEHRZRRBRE ZEBE - A BSHBREEPEERFHEMAVIE - URBETHREMERSHAE - B0 RENE  BINHBRER LNEH  EFESERER - BRANEE
tAESERESEER -

EmBiE / B5E
Sirocco Mini Clip-on / TTH-19 (Round sclamp)

@ - @@ Eran e
@ FILEMA - @ R

@ FhyExl - O s EZREL -
i\%‘& @ MSIR44SFERHE(12mm)x2 - @ S5 FEE -
S8 @ FHHRE - ® M5IZ 4 E R I (18mm)xd -
© BESEh(E) -
© BESE(A) -
Sl @ L=EEEXL -

EEBRBBEX] -

© B gRBEx1 -

B FRIEXL -

O M52 EFRBA16MmM)X4 °

ZEHAA

1 BAEIMERNUEZEREN -

2. IFRBOO@Q@OAEERETIE £ - Hit
@Y IR 4456 E_E (SHE AR ESNm) -

3. EROMSE#BOFNERE EEQFEL -

Q 4 HEBOFRTBY LQSFERAIT -

LLNTRTH

www.controltechbikes.com ./ [/, /4




y /
‘ Sirocco Mini Clip-on Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use.
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be
This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused

e - Ry =t ir
instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting

the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
sure to keep your receipt.
by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular

maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
Sirocco Mini Clip-on / TTH-19 (Square sclamp)

Part Accessories (Optional)
@ MiniCliponxl - @ Round Lower clamp x1 -
@ Elbow pad cradle x2 - @ Round clamp pad Lower x1 -

® M5 bolt for pad cradle(12mm) x2 - ® M5 bolt for round clamp(16mm) x4 -
® Elbow pad x2
® Velcro(Soft) x1 °

® Velcro(Prick) x1 -

@ Upper clamp x1 -

Clamp pad Upperx1 -

® Square clamp pad Short x1 -

Square clamp pad Tall x1 -

@ Lower Square clamp x1 -

@ M5 bolt for square clamp(18mm) x4 -

Installation

1. Ensure the stem body is square type.

2. Assemble Mini clip-on @ with upper clamp @, clamp pad upper
®), Square clamp pad Short @ (Width of stem body less 36mm),
or Square clamp pad Tall @ (width of stem body more than
36mm) and Lower square clamp @ in sequence and tighten 4 M5
bolts @ (Max torque: 5SNm).

® @ Stem width less 36mm use

() @ Stem width greater 36mm use |‘ |

3. Assemble Elbow pad cradle®@ on the Mini clip-on by tightening
2 M5 bolts®.

www.controltechbikes.com

4. Attach the Elbow pad@ to the cradlem ””
111414

e aTH/



' y /
‘ Sirocco Mini Clip-on Installation Instructions

s HA
BHBE ControltechEf - HHFBLREAPELBELRERAR - BRASKRPELESEMNENERBRTBRERER -
RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
Controltech(REI A BEHRZRRBRE ZEBE - A BSHBREEPEERFHEMAVIE - URBETHREMERSHAE - B0 RENE  BINHBRER LNEH  EFESERER - BRANEE
tAESERESEER -

EmBiE / B5E
Sirocco Mini Clip-on / TTH-19 (Square sclamp)

EHAE Bo i
@ FiExRexL - O B T EE -
@ FHEx1 - @ BEfigREK] -

OMSIRFERA(12mmIX2 © @ MSiB44EFRER(16mm)xd -
@ FH®mEA -

© BRE®E)

©® BREX) -

@ LFEEXL -

LER B -

© FRAEEEEX] -

HREEREK -

O FHTFHE -

@ M5SR4 FZRIRB(18mm)x4 -

ZEHAA

1 BEERSMERNUERERAT.

2. IFROO@QAOMODAERSFUEL - B
@UFRR 4 IHE L (HE &R AHSIESNm) -
QOZEONBERRERFLSETER

Q @ = = MERE6MMLT)EA

57\ EmmEsemm(l b

3. EROMSE# FNERBEELFE -

4 BFIRRE ERLAT - AT
iy /

ATH /)

www.controltechbikes.com



	TTH-19-C Clamp-01
	TTH-19-C Clamp-02
	TTH-19-Round Clamp-01
	TTH-19-Round Clamp-02
	TTH-19-Square Clamp-01
	TTH-19-Square Clamp-02

